
 

1.  
 A. Dombrovskis,  «64», 1977  
 Mat in 2 moves 
 

1. ¦c2 [5.0] 
 

2.  
 V. Erokhin, 1981  
 Mat in 2 moves 
 

1. ¤c5 [5.0] 
 

3.  
 A. Kalinin, 1977 «64»  
 Mat in 3 moves 
 

1. Ґb7 a4 2. Јb4 [1.0] 
[1... h5 2. Јg6 [1.0]  
1... g5 2. Јe4[1.0]  
1... Ґh4 2. Јh4[0.5]  
1... Ґg5 2. Јg5[0.5]  
1... Ґa6 2. Јa4; [0.5]  
1... Ґc4 2. Јc4 [0.5]  

  
 

4.  
 G. Gfeller, 1986  
 Mat in 3 moves 
 

1. ¦e1 ef 2. Јf5  [2.5] 
(1... Ґc7 2. Јg8 [2.5]) 
  

5.  
 M.Marandjuk, N. Soroka, 1990  
 Mat in 4 moves 
 

1. ¦b3 (‚2. ¦b4 [1.0]) ¦e7 2. ¦bc3 ¤a4 3. ¦d3  [2.0] 
(1... Ґe7 2. c3 ¦e1 3. c4  [2.0])  

  

6.  
 M. Velimirovich, 1974  
 Mat in 4 moves 
 

1. ¦h1 f4 2. ¦d1 [3.0]  ўh5 3. ¦d8 [1.0] 
2... ўf5 3. ¦d5 [1.0] 

    

7.  
 Y. Soloviev, «64», 1977  
 draw 
 

1. ¦e8 ўd6 2. ¦e1 Ґe2 3. ўh4 [1.0] Ґd1 4. b7 ўc7 5. ¦e3 [2.0]c1Ј 6. ¦c3 Јc3 7. 
b8Ј ўd7 8. Јd6 [2.0] 
 

8.  
 G. Umnov, 1982  
 win 
 

1. ¦f8 ўe2  [1... ўg2 2. ¦g3 ўh2 3. ¦f2 ўh1 4. ¦h3]  
2. ¦e8 ўd1 [2... ўd2 3. ¦h3] 3. ¦e1 [3.0] ўe1 4. ¦h3 [1.0] Јh3 [4... Јd2 5. ¦h1 
ўe2 6. ¦h2]  
5. ўh3 ўe2 6. a4 ўf3 7. a5 g5 8. a6 g4 9. ўh4 [1.0] [9. ўh2 ўf2 10. a7 g3 11. ўh3 g2 
12. a8Ј g1Ј=]  9... g3 10. a7 g2 11. a8Ј  
 
 



9.  
 H.Freberg, 1952, "Springaren"  
 cooperative Mat in 2 moves 
 


 

1 Јa3  ¤b8 2. Јf8  Јd7X [5.0] 
 

10.  
 F.Khansen, 1953  
 cooperative Mat in 3 moves 
 

1 ¦b4  ¤c4  2.Јc4  ўe5 3. ўc5 4. ¤d7X [5.0] 
 

11  
 R. Tavariani, 1969  
 checkmate in 2 moves 
 

 

1. Јa3 hg¤ 2. Јf3  [2.5] 
(1... hgҐ 2. Јe3 [2.5] )  

 

12  
 V. Rudenko, 1988 XIII SU team 

championship   
 checkmate in 3 moves 
 


 

1. ¦e5 b2 2. Јf6 ef 3. ¦f2  [2.0] 
1... Ґe2 2. Јg4 ўf2 3. ¦f5 [1.0];  
1... cd 2. ¦f5 ўe2 3. ¦f2 [1.0]; 
1... Ґc2 2. ¦f5 Ґf5 3. Јg4 [1.0]. 
  



Open Solving Suetin Memorial Tournament 2020 (Russia, Tula 03.01.2020)

Problems Difficulty (21  Solvers) 

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

5 #4 1000 0.00 0 0 14 7

12 S#3 952 0.24 1 0 6 14

10 H#3 904 0.48 2 0 5 14

4 #3 880 0.60 2 1 14 4

7 = 828 0.86 0 6 14 1

8 + 820 0.90 3 2 13 3

3 #3 758 1.21 3 6 12 0

11 S#2 738 1.31 5 1 4 11

6 #4 714 1.43 4 3 10 4

9 H#2 476 2.62 11 0 5 5

1 #2 334 3.33 14 0 6 1

2 #2 334 3.33 14 0 6 1
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